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If it is likened to it concerning R®Y — N2 W R ON

OVERVIEW

7"2 maintains that a X"9 01°% 7 n997n is required to bring a separate 27, just as a
X'"D 012 nYon is required to bring a separate 127p. (One of) their arguments were
that since the X"5 012 7K n?on and the X"5 012 nYon are similar concerning their
07 D»X7; in both instances it is X»v 17, therefore they should also be similar
concerning the requirement to bring a separate (additional) 727 for this %977, Our
mooIn informs us that this argument was retracted and instead 71"2 offered a
different reason why a separate 1277 is required for a X"5 01 7K noonA.

*

— v 13 YW DNAWNN DYVH A Y9N N2 I19N

1''2 retracted from this reason, on account of the response from w''2 -
S1NNY DINNDYY NN MY 'naY X (x,0 97 PIN9IT NNIP P99 NINTI 1N»NYYY

And the final reason of 77"2 is as the Xnss12 states in the first 99 of nns=> noon
that the 770 writes 'n2% X' (or for a daughter) to include that a separate J27p is
required for a woman who was 71X 2°31%®% 218 noon.

SUMMARY
The (extra) words na? X teach us that a X"p 1% 7R N9 is required to bring a
separate 127p.

THINKING IT OVER
Why was it necessary for 19010 to inform us of the real ayv of 7"27 It seemingly
has no relevance to our X!

Tw"a responded to 77"2 that X"5 01 7R NP1, who cannot bring a 1277 (a 127 cannot be brought at night), cannot be
compared to a X"9 012 NP1 who is 7K1 to bring her 727p. Therefore on X"5 01% 7K (since she cannot bring her
[original] J2p), this new ‘birth’ of X" 017 X is included in the original 127p. See oX 71"72 >"wA.

23,2> (y™1n) X" The words 'na" W' are superfluous; the 7710 could have written: 7970 1> NIRONN

31 X720 (N2 X 129); omitting the words 'N2% W',

% See *"19 on oK 71"7 *"wA
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